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A B C

B AND A

A AND (B OR C)

True False

(1) (2)

3
True @)

@ False

6
True ©)

False True

:QBASIC &3, & 5501 1591 ilarll s dld ) bl e JSU Sledl il (812" 0 )8 o

(4)

5-2+37(4/2)

(3)

(—4nr2) 7 47 (0.5)

(2)

(2ra)N(274)

(1)

(1+2)7(3\4)

(8)

1+2/A3\2*2

(7)

5N2/5*2+3

(6)

2*(—3+410.5)"2

(5)

(5nr2-2*8+7)*(0.5)

(12)

(5—-2) mod 5-2

(11)

7 mod 3—3/72\2

(10) N3

5 mod 5+16;7;>2;1N£/2

9)

4n2/(4-2)*3

(16)

10 mod 2*4-2

(15)

—-2"2 mod 372-2

>
N

(3*218 ¥6/3) mod 5

(13)

(2 mod 4)*5—113

(20)

sqr(abs(—16))/2

(19)

sqr(15)"2 mod 2 ?

2 ND, (18)
i

. ~5qr(9)/(10 mod 7)

(17)

sqr(5—1)*3/72

(24)

Int(3/2) mod 5

(23) ~

. B

Int(abs (sqr(%_) - 32 )

(22)

Fix(6.85)—4+sqr(9)

(21)

Fix(2.5—abs(—1.25))

(28)

3—-4* cos(60)"n

(27)

clnt(int(;;’z.g)— 1.75)

(26)

sqr(133)/sqr(133)*2

(25)

Fix(—2.5)"2/2

(32)

16*0.5=sqr(16)

g ,r/ (31)

9+13 mod 4=9+1

(30)

5 mod 2-1 >= 322/9

(29)

4+8/2 < 2"3-1

(36)

int(-5/2)=-5\2

(35)

abs(3—-7)=Cint(3.6)

(34)

Int(6.85) = cInt(6.85)

(33)

Fix(—=9.1)>int(=9.1)

(-=1)7A27(0.5) = abs(—1)

(39)

tan(15)/tan(15)—1>-1

(38)

(37)

5 < 7\ 2 +abs(cint(—1.65))

3*4<=3/72 and 11 (0.5)=1

(42)

Fix(5/2)=5\2 and 274=2\4

(41)

(40)

2>3 or 1=fix(372)

(45)

10—-3=8 or X<1 and (—372)=int(9.1)

(44)

170.5=1 and ( int(—3)<fix(-3) or (—1)"3=1)
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.dijdxqw&\&&\@%xisswiéﬁwQBASIC&Q&«;-&;LL@:*&J,&'o&o&

1)

10 rem "this is remark”

let $="symbol”
rem = "100”

rem$ = remark
a*b=ab

4b = 2d4

let rem = XY

let to= 6—-3b
Y= sin(30)
N$=N$§§§xmman
ACEIAI + AS

11)

12)

“Print m$ = “amman”

,1%;,;”{%‘ Prlnt X$ * //4,,

vy

Print sqrX

15 )
) Print 4*rem

Print 15/(b—b)
Print n$+4

16)

17)

18 . ” ”
) Print rem$+“End

19 .
) Print reme = 12 * n

20)

Input "Var$”
Input XYZ
Input a$ ,5t; b$2

21)

22)

23) Input “This is a Exam”

24) Input input three numbers: a, b, ¢

IF X$+Y$ Then print $S

IF A>50 Print "Pass” else 50
IF N>M Then Print A ELSE

IF A$=2 Thenrem A = 2 els 4

25)

26)

27)

28)
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29)

FORL =1 TO 3

30) For counter = F to L$ Step

FOR 1 to 5 step —2

31)

: S e JS 1) QBASIC L, oo 515 2 Bl 512V 0 500
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X
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Sl Sl O 13] (%15) dwy (tax) &yl &y ) Ol — 27

.4équRi«ﬁaS\sleékijadsd&sl—28

6 s Y1 dues (income)

ol il — Sls 2 b.@,a N i3 38 13l my program :ik>M - o5 — 29
2010 &alS a bl G5 125 (N) sdall m j0 2 b & 50 (N) dad 2318 15) - 30

fail LS wloy S5 25 LIl B iad i 1 sial) JUso) -
Al a5 Xl sy 10 e ST 5T Ul X sall 018 1) - 32
(3) sudl wlaeLas e Nosaadl O 15) sum @M.é\ Sl Nosuwl L) - 33

(L 039 (4) Jo el Jw ¥ m gw\ 3\5 13) (m) saal &Ll — 34
Lay L>-j) e (Y) .u;d\ ol 13) C‘LJJ‘L}'““"L@"‘ 35
LJWS \.>J..c- (F) su Q\S \.>\ (F) su R L;JMSJ\ s4ldell - 36

QBASIC L, 1.2 1 bl e JS 4o alE] uuﬁu ke o el LS Sledl bl 812 o i0 e

@) @) 1)
S

kS

rem "AB"=2 CLS =

A=-1 | Print X + 4
Print AAN2 ,"AB” » \End End
End « 7 ||Print C, "a*x”

(5)

remb5 =5

Print rem5

Print reem

R=15 B=5
Print R mod 3 A= B-b Print BA, n
R=R-3 b=12 Letn =4
Print R ,R\5 Print B,A End

9) (8)

AB =9 —n

X$ = //5//
Y$ = X$
cls

Print X$;Y$ , X$+Y$H

Print (47°2)7(1/4)
Print sin(70)An* 5
End

Print 5/(B-B)

C=6
R$="C"

C=4

Print R ,"C”"; C
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X=-3
X=-XN"N2
Print "X”;
Print X ; XX

rem Print 5
A=5

Print A+5 ,
Print A—2/2

M4=4
M$="4"
Print "M4”,
Print M$+m$

(15)

let$ = "let”
let$="B"

Print A$,

Print let$;let$ +let$

(14)

S=7

Print S$;
Print SS,
Print "S+58”

(13)

Print Welcome,

rem "Print Welcome”;
Print "12”7+"57;

End

(18)

IF one = two then
N=N-2

End if

Print N

(17)

IF (~2A2)= 4 Then
End
End if :
L
Print "End" A

,\y
INPUT N$ .n$

b
~||INPUT M ,m

(16)

9 //2// //5//
* 2

CLS 72,5

Print N$+n$ , N+ n

(21)

IF TS="Test" then
N=4

else
Print T$, N

End if

(20),7"

[F N=4 THEN
S,
N=N+4

else

- Print N

End if

(19)

IF (N<1) Then
Print 4

else
End

End if

(24)

rem print A = 2
IF A=2 then a=4 else a=8

Print a , a mod 3
End

(23)

IF sqr(2/4) <= 3 then
N =100
X$ = "Jordan”

End if

Print N , X§ + "=

N=4
IF N=4 then N=N-2
IF N<4 then N=N+3
IF N>4 then N=N*2
Print N

e Al : Sl slae|
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A=2 nl=50
B=1 Input n2
If A = B Then rem print A else print B IF n1+n2 <100 then print n2 else End
Print “End” Print sqr(nl * 0.5)

(27)

40 : » dsall L) O ol 3l

B$ ="3” N=3

A$ ="2" IF N<=4 Then N=N+5 else Print N,

IF A$+B$=B$+A$ then print "A$" else ba=2 IF N mod 3=0 then End Else print n\ 3
Print ab CLS

(31) (29)

FOR J=n to n+1 n=4 Z;Ifo\&r L%f&m=; to 4 step 2
Print int(J + 0.5), for n=sqr(n) to n A X$ = "QBASIC”

Next J Print fix(n/2) ;3?

End Next n N4 5 Print m , X$

Next m

(34) (33g§x" (32)

FORN=4TO 8 STEP 2 ||[FOR I1=4/0 2 step 2  ||For =3 to 8 step 3
IF N > 4 Then CLS N =5 Print "I";
Print N A 2, « Print N IF I >=6 Then End
Next N [ Next | Next [
Print N 7 ||Print N + 1 CLS

(37) - (36) (35)

FOR X = 4 to 2 Step —2 FORi=KTO 2 FOR n = A to A step A+1
X=X-1 K=K+ 3 A=A+2

Next X IF k<=4 then print kA2 Next n

Print X Next i Print n * A
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(40)

FORJ =1 TO 5 Step 2
J=J+3
Print J — 1,

Next J

REM Print J

A$ ="M”"

FOR n=1 to n step—1
A$ =A% + 'm”
Print A$,

Next N

m=1
FORk =2 to 4

m=m *k
Next k

Print m

(43)

FORX = 2 to
Print X,
X=5%*X

Next X

10 step

(42)

For K =5 To 2 step —2
K=K-1
Print ABS(K — 5)
Next K

(41)

FORX =3 TO 7
X=X+5
Next X

Print X

(46)

FOR S =3 TO 9 Step 3
S=F+1
F=S+1

Next S

Print S, F

B=4

FORB=2TOB .
N2

2N,

£

B=B+3
Print B+ 1
NextB -

(44)

3

| For K = =2 To K step 3

K=K +1
K=KAZ2
Next K
Print K

) el s aad &t QBASIC 2, s 5015 Aot L) wblill e JS 28 el iy Fotoe

5N

Claf:ll

L5Se U1l plaszad 0 5

Print sin(2*X)/sin(X+X)*sqr(a”2+b"2)

X =k\3

iSe SU gl aldseal O

Print abs(n)

iSe SU gl aldseal O

i&wKMObL«J&

Print int(K/4)

A 58 0181 sy

Print int(3.665)

b5l oWl alasaal O

Print A$.B$

letH=A-B
letH=4*HA"2
print H

e Al : Sl slae|
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Print “Amman”

Jazs print Ao IREEAW
Print 2017

Print “enter your name and salary:”;
S| g input A Lo deians Input name&
Input salary

Jazs print Ao IREEAW IF A>=5 Then Print sqr(A) else Print AAN0.5

Ja3s print dle> IREEI IF X>O0 then print X else Print —1*X

fix Ol 3y La.xz:w.,c BEROA PV CY I[Fnmod 2 = 1 Then Print n

mod J»Lal\ La.xz:w.,c BEROA PV CY [Fn/3 =n\3 Then Printn N 2

Al Jolall stz 050 b o)l LS IFA>10ORA = 10 Then Print A

Al ol plisead 055 L2 1S [ IF A < B OR A = B Then Print "A*B”

el ) Jolall altnly b2 1S | IF X <> 10 Then Prifit X

byell dhar e S8 JS8 ktiies | IF X > 5 Thenirém Print X else X = X + 2
IF N < 20;Then rem N = 4 else N = 8
Print ”gg ark”

LJ,;"J\ o> f\bd«w‘ 093

/ !Eﬂ:}p%éme>=5000 then tax=0.23*income
Bdly b & e e IF income < 5000 then tax=0.15%*income
Print tax
IFL>W Then A=W * L
IFL=W Then A=L *L
IFL<W ThenA=L*W
Print A
IF N >= 0 Then M = Fix(N)
sty b8 dler Ladbetus IF N >= O Then M = int(N)
Print M
IF X =Y Then
rem print x—y
b dled B il plasial 055 | ELSE
Print X + Y
End if

wg:\@.
.3.J~>\j zktjaj«:u Uw:: L%?;M
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Obj.U\ Uw:- f\bd«w‘ Oj.)

FORC=1TO 3
Print "aaa” ,

Next C

Obj.U\ Uw:- f\bd«w‘ Oj.)

FORn=1TO 50
cls
Print n

Next n

23 Print dles> Lodkdnons

FORJ =3 TO 7 step — 2
Print “"JORDAN"
End

Next J

Print J

Obj.U\ Uw:- f\bd«w‘ Oj.)

ForJ =1 T0 50 -7
A$ = "Amman”’
>
Next J
Print A$: ,Z@ >

Obj.U\ Uw:- f\bd«w‘ Oj.)

for A'='1 to 15 step n

)éir= A*5
Print A
next A

e

T

step plaill aliil 5 3l aens e i

FORn =1 to 30
n=n+2
sum = sum + n

Next n

(step 5) s3+I LeM

forl=1 to 50
[FI mod 5 = O Then Print I
Next |

Bb‘jw%?jsb\jj\ﬁwf\mb

sum = sum + 9
sum = sum + 36
sum = sum + 81
sum = sum + 144

sum = sum + 225

e Al : Sl slae|
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:ch‘,&.’:":’
ey 2 AW e ol o8 4591 QBASIC ) e oo

Print SQR(2 * SQR(15 A 2) + ABS(Fix(4.8) — Int(10)))
Aledt 353 g2 gl 3 st SldSlsue S =V ol Al sl Je Al dled ) dis o5l L — )
SQR(X) Jos Jons ) oV ol 81— € 5352 ol Byl | Selall sae S — ¥
QBASIC &J (3 1S3 U3y aliseaal e 38l Le— 1 L 04as 8 Al Jad O gllall foaaddl sale— 0

tads 2 dewdl e Col S QBASIC il Y1 201 pdadll oo

REM '"This is a very important program"
INPUT a, b

IF Int(a/b) = Fix(a/b) THEN CLS ELSE ab =a — b
PRINT "The values of outputs are:"; ba , "a”

END

~

L1 & N i . & - .
L;L?. B@LELSL" Ju>~1 o pYULH Lf;f'” Ciﬁ.al\uacfw\—‘
el
.éhﬁ\;‘ﬁbib‘p L&@Jbﬁd%tbj& ULthu.ﬁg:AJchrM %}KA‘&)J&N‘&}JQU
”g}?g‘ - -

b =2isya =548 SIS 1) Ll b L Y
Sa. 0 A ielb o o o) Jabl o3, ¢ $ba e el b wime I B 3, L— ¥
Fix(@/0) 0391 Jae Jor 01 ponl 38 i 1 eldall Alasr lor 2 0y 255 211 Sl ste oS — 0

Hads Y e ) @8 ¢ QBASIC iy o Sl Y el ol

o

Input X, Y, A$ N

cls :

if x>y then print X, Y, 3*X =Y
else

print A$,Y,y \ X

print “"Redo From start”

End if

e Lozl ddas gu@ujggw—\
=W‘ﬂ¢&;bw4~@\3y\w;gd\ = SI— Y
? 2,8, "Jordan”
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tas ) AW e ol o8 ¢ QBASIC Gy Sy Y1 ali ol e

X=2

IF X< 3 Then Print A$ ELSEREM N = 4
Input “number is:”, Y

Let Y=Y+X

PrintY,Y-1,X

(sl i — 0

S JS e Ll We old) sl oo sl
) B, — ¥

INPUT Jls5¥1 Alex 35 dn Y = 12308 15) Galedl el 1 s b oo

AW Lela) Bl plasetialy Gold) el ) (350,11 TF 2 20l 5l Y1 e LS el

tads ALY e () o3 ¢ QBASIC 43y uj.gxgy S eyl sl

Rem$ = "NN"
A=-30
FORL = 20 TO AA STEP A
INPUT ab
IF (ab < 30) Then
CLS
NN = Fix(ab/3)
ELSE | ‘3?
Print L , rem$ , bq, inf({ab — 5)7/100)
END IF "
Next L
End
Lo der—0 gyt
Q.J\JS;H‘UA?J?&:JQ\JAM;é.C
el s 2l g A3 Sl e a Lo
ba sl ied 2l

.;da.vo’ b yad — Y

T

, abs(5 — ab)

P b U8 e oty Yl oMl el 1y o |
w’&»d\ﬁ\—Y .Beb.; Uw:-_\

5 9mml OISl sue oS o
Sl Lol I Al Jie gl godall cold) ga leus

SN AT J5ID Sles W e LS (3 Lot il 2 be
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:wgﬁxmv\&%iﬁjQBASICw@j&\j@w@ﬂbg&w%wﬁ\.é

IF X=4 THEN Print "Tawjihi” ELSE X=X+ 1
i3, QBASIC ilex Jos Tdse la—
Sl e S e Tl Yo Bald) Akt o el —
LI O S (P REEWNENT | PR AC NIy
CiaL et 3 ol R e e ) by Aler ST
X = 2465 o813 gl dks ol ST —

tads A A e crl & ¢ QBASIC dal 08Uy Y1 el ) o3

CLS RN

~3

Print "enter mark & name:";
Input X , A$

X = X mod sqr(16)

Print XS

REM LET N$ = "100"

End

. B

Sl JS e oty Yo oShel pmals 1 o - il |
Llas il il — 0 gediler— £ ols e, =¥ LS OLBI— Yl i )

3 : :
CAL,JJ\L} ‘S.Sji:/)l\ CA\J;.L’;L\ J.l.c-rxgc C“L’JJ‘L}BJ)";‘ ol Jlﬁﬁg.;‘)
ol Ll 37 algia VI e [ peh o L5 Aol Eles alE] dny el ) Bks b Lo
9 o Usuli X £ <3S 131 (X) paneld 23! e Lo
1235 INPUT e plusialy s g e (3 oMol als 31 3 W15 J 531 (el sl
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el Y e oo Al s Y i

F = 2a—b2x%
\ c

X s delbyoley b, CS)

0 55Ls Y C lse X o el s sl 2l ST

Bjﬁwst&uiﬁbe\c

e 5 i) QBASIC il ulSn b (2, 51 i f 00

Bl ded 3 Ol e W el g ey 403 o) — 1
I sual WJJ\JJA.-‘C?ngw\ Cffjdjy‘ e lize :\.GUagduﬁj f@j&%d&)l—z
. . . SN . .
.L«Mdfd\jw.:w\@bjwaw\w@%\g%ﬁijusJL>.>\—3
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